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But if he said, ‘give’, we give (etc.), even after an extended time

OVERVIEW

The mwn states if a vA7 %W lost a v and found it immediately it is w5, otherwise
it is 700, The X3 cited a 73wn which seemingly challenges our 73wn. This other
mwn states if one found a v, etc. he should not return it (to anyone), for we are
concerned perhaps the husband changed his mind and does not wish to divorce his
wife. The X3 infers from this 71wn, that if the husband said to give it to her, we
will give it to her (presumably because there is no longer the concern of 27°%y 7711
1% X7w), and even after an extended period of time. This contradicts our mwn.
Our nooIn discusses how these inferences (1IM1 11N MR X7, and 72177 A1 19°9R))
were deduced.

nooIN asks:
- 1AM PR 211 9N 1PN XYY 1am am AR XN P1I1RY 7Y N NN

It is astounding; how did the X723 know to infer, ‘but if he said “give”, we

give’, perhaps that 71wn meant, even if he said "11n', we do not give’ -
= 1Y 1MYY INNM Y9 NON 1D AN0IY VIN NT PRT IPYINT DIVN

Because we are concerned that this v which was found is not the w3, which was
written for this husband, but rather it fell from another person who has the

same name -
- 9303 RY P13 799599 7913 W99 919

And this is the explanation of what the mwn there states a2 Xow o9y 79017,

' This can either mean, give her this v3 and she should be divorced with it, or that it is her vx which she already
received from me and she lost it.

? There are two concerns regarding this found vx (assuming that it was never given to the woman). Either that this is
the correct v3, but it was never given to her, or this is not the v3 at all but rather someone else’s vi. Therefore there
are two ways to understand 713n°% X2w 17°9v 7911 ®aw; either that the husband perhaps never gave her the v, so we
cannot give it to her for the husband does not want to divorce her (but not that we are concerned that this is not the
correct v3). However if he says 11n (see footnote # 1), there is no longer this concern and we give her the vi. This
seems to be the understanding of the X3, However (1900 is suggesting perhaps) the concern of 79»1 Rnw may
mean that the husband decided not to give her the v, and this v, which was found, is someone else’s v3; in that case
even if 110 71K the rule should be 1°1M131 PR.

? This can also mean that the husband is saying, ‘give it the wife since I already divorced her with this vy’

* Therefore we cannot give her the 3, even if he says 1n, for perhaps it is not the correct v3. See Moo there in 1"2
X7 1"7 &, that the concern of 7211 is based on the fact the v3 was lost, meaning that the reason it was lost is because
791 so therefore he was not careful with it. We therefore assume that when it says 1n it means that she should now
be divorced with this v3; however this cannot be done since it may not be the correct 0.
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that he changed his mind and did not give it as of yet -
- A5Y 1N 1A "IN NN DY B399 10 791239 1WA 1IN XY IN N

However if we would not be concerned for T»»1 (meaning we assume that he

gave her the v3 already), we would return the 3 to her even I it is not her v: -
= TIPNIY NIN ND99Y NINT 1D

Since she only needs it as a proof that she is divorced. It makes no difference what
document she holds.

N1B0IN answers:
- %1303 KDY 10 1IN IIN INY 2IND XY 79099 53010 95517 PN 13539 9IN)

And the >''1 says that the X2 infers that 1101 110 972X oX, since the mwn stated,
‘and he reconsidered’; but it did not state, ‘that I assume they (the v, etc.)

were written but he did not give them’ -
=79 YD NN 1N 12 TN TUN0T YHPWN

Indicating that he reconsidered and changed his mind and does not want to

divorce her anymore, that is why we do not return it to her -
= D) ANNN NPV 19WN XD NT VI AWM NN NI NN ON DaN

However if he would want, he could divorce her with this v, for we are not
concerned that it fell from someone else; we assume it is the correct 3 —

mooIn proves that we derive '1°31011 110 K X7’ from the word '77n1":
=999 991237 NNYL D190 Y92 (x,n 91 NYINN NAAT NP PI92 19209) NYTNH2)

And in all the texts in the first P25 of »''2 'On, it explicitly states, ‘the reason we
do not return it is because of 911, etc., but if he said 1n we give it to her.

nooIN asks:
- ph N9IT 29 709999 RPIT ANYRY XYY 121910 1119 199X 199 NI VNS ON)

And if you will say; but how does the X723 know that we return it even after an
extended time, perhaps we return it (if 110 7mX) only if it was found
immediately, as X9°7 "1 asked later —

> Presumably this is only if he said I divorced her, otherwise how can we return it perhaps it is not the correct vx. We
would have believed the husband if not for the concern of "1711". See ‘Thinking it over’ # 1.

% If the reason for not returning the 3 (even if he says 1n) was because we are concerned this is not the proper v3,
the n1wn should have written that it is not returned because they were never given, since however the 711wn gives the
reason of 77111, we can assume that if there is no 7711 (he says 11n) it may be given to the woman.

7 See on the '2 7my. We find that X1 '3 contradicted our 73wn which permits us to return the va only if it was found
1n%&>, with a Xn>>72 which allows us to return the v even 77217 12 (according to &7 7). The X3 explained the
reason X7°7 "1 did not contradict our 711wn with the 71wn of 0°w1 *v (which 727 resolved) is because perhaps that 71wn
permits us to return the v3 (if 130 IX) only In7x%%. Why does 1727 disagree with 1" in this?
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An additional question:
= 12251 290 N9 1ITY IDIAN NYNRD 99N NI 1D VIV INNIN 193 N9 %A

And additionally why did ''1 infer more readily from the Xn»-2 of 7@K 211,

that it means even 773192 3212, more so than from the 7w» of o°w1 v x¥», which
according to 1"7 may mean only n%X?, but not 712177 1217?!

N1B0IN answers:
- 1AM 191 VIR ORT JIPINYNRY 791031 PIVYINTN P57 PN 13539 9IN

And the >''1 says that 727 (our X n3) infers that it is returned even 7217 117,

since we require 'T9211' to teach us that if 91031 10 2N -
- NN VY PYYIN PRT “RVIYD TNYRY INT D219 JIY 199N 13597 9NN DAY 1PYWN K

And we are not concerned that it may be another w3, therefore it must mean
even 7219% w1, for if it only means =an®XY, it is obvious that we are not

concerned MR ©x%, and the 7awn did not have to say 7721 to teach us that 13m3 10 K DX -
=303 XD 19923 29097 VP RNYNT ROMN 7999 NPT XNT 930 X997 229

However 1''1 maintains that this which the mw» wrote 79211, it was just in a

manner of speaking, meaning that since he was 7923, he did not give it -
- %9313 9390 9N XA PTPTY X9

But the mwn did not write 7221 so we should infer that 351031 310 9% and 7212 120K

M27n; this is concerning the mwn -
- MNOIWO ANYNY INT N2 IATY IDIAN 99TNT 929V P2 NNPYHaN YaN

However 1" properly infers from the Xn>»2 that we return it even 7217% 19,
for if we return it only =n»x8Y, it is obvious, the xn>72 need not tell this to us.

moon offers an alternate solution how we derive 72177 7212 1295K:
- 12995 1319 199N PITT PN 13529 VN N
And additionally says the >''2 that 721 inferred that we return it even 572177 321% -
- 119797 1919 99917 ¥ 02 910wy PN PHYON 190U NIIYT 1Y YnYUNT

¥ See previously in this mpoin (footnote # 6) that the inference of 1IN 1IN MR, is based on the 7IWn writing 7137

? This concept that In>X? it is Xwws that we return it, is agreed to by both 7121 and .

19 According to 7127 the "7on1' is qualifying the rule, we do not return it because he was 7223, indicating that if 110 %K
(he was not 77n1), we return it. While 11 maintains that 79211, is merely stating a fact, the v3 was found, so perhaps
he never gave it to her because he was T711. See footnote # 4, quoting from '01n in n"2. See ‘Thinking it over’ # 2.

" The difference between the 71wn» and the Xn*2 is that in the X071 it clearly states °117°, so it must mean 12
721 since TNPRY it is Xw'wo and there is no need to inform us of this ruling (see footnote # 9). However the mwn
merely states we do not return it, the question is whether the term 771" can be utilized as an inference that =X oX
1°1N11 110, so while 7127 maintains there is an inference, 17 maintains there is no inference (see footnote # 10),.

12 This answer does not (need to) assume that In»xY it is Xv*ws that 71n (as the previous answer assumed).

" 7990 uw is a document that 7"°2 gives to a 722> which states she went through the 7%°91 process and is no longer
012°2 PP, and is permitted to marry whom she pleases.
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For it seems to 727 that the mwn of 0°w1 >v>2 X¥» is similar to the 71wn regarding
finding o821 573950 ﬁuw,ls which we return it and even in a case of 712197 1% —

mMooIn proves that PRI 7%°71 MWW are returned even 7217 1AT9:
= PAIN IN NEDN DN P72 1INWD NIN N7 1I9MNYND TPI0N XY 0NN TN DyT

For perforce it was not necessary there to inform us that the P1xm 7350 "MVw
be returned unless it is not known whether she was 7351 or 7N -

- 695899 NN 19998 PPRT 1959 1YY 19X IDION 99TNT NDIWD NIN IN N¥INY 191
For if it was known (through witnesses) that 7351 or 718 it is obvious that it
should be returned even if this 13X 7%°%17 VY is not hers, since she only needs
this 20w as proof that 7x°m1 771 so she should be able to remarry -

- by NYAW 595 139979 NY ANINY NEDIY NN 310 9Y 39959 9179 19NXAT 11599
So since we are discussing a case where it is not known whether 71%°m 7¥%71, so
the fact that it was found immediately, does not inform us at all that this is her

1IN 71X°90 0w -
- Bo5n nYYN T0Y 1Y AN9Y 11T 1IRT 119

Since we do not know that a 7%°n 2uw or X» was ever written for her.
Therefore since by X1 7¥°%1 ™MLY we return it even 72172 12192, we can assume that by Pwa it is
also returned 72171 2172 since both n1awn follow one another. This is how 7727 infers that it is
72177 12 19%0R. This is the view of 727 -
- ROYDT NIYT 1Y 991 NY N9T 229
However 1''% does not establish the Xv°7 (our 7awn of v X°2n77) similar to the
RO (of w1 v R¥n), therefore there is no inference that it is 72177 115 -
= 12)99 YD 1D9NRT 929V P17 NN
However 1''1 infers properly from the Xn>>12 that it is returned even 57217 3275 -
- Y12 AW 9391 99) NIANY NTINT YRWNRT DT Y¥any Tt

' This is the following fawn after 2°w3 > X¥». The fawn there states if one found PR 797 *VW, we return it to
the woman.

15 7R VW is written by 7"2 to a m1vp who was married 11277%, which testifies that this m1vp annulled the marriage
(by stating she no longer wishes to be with her husband), and is no longer a married woman. %’ means refuses.

1 33 wohn 0w are basically different from a 3, for the 18 7¥°%0 *10w do not permit the woman to marry (that
is accomplished by the 1381 71%°%m), it merely proves the she may marry, however a v3 permits the woman to marry,
as well as proving that she may marry.

7 Let us assume that when one found the 7%°%r qvw which was dated on that day; that does not prove at all that it
was written for this woman. This case is different from our 71wn of 7281 3 X°27, and then he found it immediately
after he lost it, for in that case we can assume that he found the v that he lost.

'8 Therefore the "7 of 21 is even A1 112, since there is no difference between 2nx> and 7217 121> in this case.

' mpoin is negating that 77 Y¥a7w 12 means that he says, ‘give it to her because I want to divorce her now’;
rather it means he admits that he divorced her already. If it would mean that he wants to divorce her now, it should
have said 7°1111 110 7K o (or something similar), the phrase 77 Yv2nw 112 indicates that he admits to her claim that
he already divorced her. See footnote # 21 (why it was necessary to make this negation).

4
TosfosInEnglish.com



12°9K1 121 X7 77"7 'O X, 12 1wa .7"'02

For the phrase in the Xn»12 of 77 Ywamw 212, indicates that the husband admits

that she lost the v3, for he already divorced her with this v3 -
= 9792 V) 139N 19 ONX RPYT INDNRY IN)

And if we return it only if it was found 2n®X%, so we must have seen the 3 in her

possession -
- 23w 95975 9NYNY K¥MIY NN RMPOY PR 1753 VI 1IINT NY2T

For if we did not see the v in her possession, there is no difference whether it

was found n%x% or 7171 1KY as we just explained® -
- 2y Sy PN IPOR) 1YY 1IN 199AN DTNMT RVIY N3 1INV 1199

So since we saw the v} in her possession (which means she was already
divorced), it is obvious that we should return it, even if it is not her v and even

if the husband does not admit, so why does the Xn™12 need to teach us such an obvious
ruling -

$1299 1319 1999X 15 ONY N793 VIN 1PN NIYA INT) NON
Rather it is certainly in a case where we did not see the v3 in her possession, so

therefore it needs to be returned even 72197 319, for if it is not in her possession there
is no difference between 2n7X% and 72171 11, as MdOIN pointed out twice.

SUMMARY

We infer from '77n17' that 3°1n13 0 OnX oX; we infer that it is 7217 7217 either
because TNPKRY it is XYW, or because we compare it to IR A¥HN VY (where
there is no difference between n%&% and 77217 1212 and the same by v3).

THINKING IT OVER

1. moown writes that if we are not wwin for 7921 (meaning that presumably he
already divorced her), we would certainly return the vx to her for a 7°X7, even
though it may not be her proper v3.>> However how can we return to her another v3;
perhaps the dates are different and it will adversely impact the mmp? who bought
m® from her husband?!**

%0 See footnote # 17. 1" 7121 both agree with this concept. Even if we found it on the same date that is written on the
03, why should we assume that this is her v3, perhaps it belongs to another couple; however if we know the v was in
her possession that day and it was found on the very same days, it leads us to believe that this is her v3.

2l However if 777 Sya7w 1912 means that he wants to divorce her with this b3 now (see footnote # 19) then there
would be a difference between 7n2x% and 72171 119, If it was found on the date of the v} (meaning the husband lost
it that day, then we can assume that this is his v3, however if it was found 72177 1217, it can be someone else’s va.

2 All she needs the va is for proof that she is divorced; it makes no difference which v3 we give her.

> See (text by) footnote # 5.

** See wn noma.
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2. mooIN writes that the word 12217, according to 1" was not written in order to
infer that 13m1 1N X oX.> Does this mean that according to 1" we cannot infer at
all from that mawn (of 7%111) that Pin 10 R ax? However in the X723 (on the 7y
'2) it states 721011110 AR OXR Nl aimhinte ]Dﬁ 195K 1°IN11 310 AR OX OINP N NI RT '
anoR 9"p73; indicating that we can infer 1°1n11 10 TR oX; how do we infer this if
not from the "7on1'21%°

2 See footnote # 10.
26 See 0" R"wAn, and own NoM.
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